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���� VCC 42 V

8��11����	
���
�� V VCC+0.3 V

��������(VC1,VC2) VC 42 V

����������(IC1,IC2) IO 250 mA

������ PD 1000 mW

���� TSTG -65�+150  

!"�� TOPR 0�+70  

#$��(10%) TSOLDER 260  
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���� VCC 7.0 40 V

8��11����	
���
�� V -0.3 VCC+0.3 V

��������(VC1,VC2) VC -0.3 40 V

����������(IC1,IC2) IO 200 mA

./�1 CT 470pF 10¢F �

./�0 RT 1.8 500 K£

&'(+, fOSC 1.0 300 KHZ
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���(��������VCC=15V,fOSC=10KHZ,Ta=0	+70
)�����

���������� ����� �����������	� 
��� 
��� 
��� ����

�����

����� VREF IREF=1.0mA 4.75 5.0 5.25 V

����� REGLINE 7.0V<VCC<40V 2.0 25 mV

	
�� TCVREF 0
<Ta<70
 0.01 0.03 %/


����� REGLOAD 1<IREF<10mA 1.0 15 mV

������ ISC VREF=0 10 35 50 mA

�����

����(�10) fOSC CT=0.01�F,RT=12K� 10 KHZ

���	
�� !��"

��#$%

&fOSC CT=0.01�F,RT=12K�

0
<Ta<70

2 %

��������"

�'()�� IIB(DT) VCC=15V,0V<V4<5.25V -2.0 -10 �A

*+,-./0 DC(MAX) VCC=15V,41=0V,

��231=VREF

45 %

�'45�� VTH(IN) 6,-./0 3.0 3.3 V

*+,-./0 0

� !����

�'7��� VIO(EA) V3=2.5V 2.0 10 mV

�'7��� IIO V3=2.5V 25 250 nA

�'()�� IIB V3=2.5V 0.2 1.0 �A

89�'���� VICR 7.0V<VCC<40V -0.3 VCC V

+:;<=��>? AVOL 0.5V<V3<3.5V 60 74 dB

@A>?BC BW 650 KHZ

PWM"#���(3$)(%9)
�'45�� VTHI 6,-./0 4.0 4.5 V

��D��E IO- 0.5V<V3<3.5V -0.2 -0.6 mA

�����E IO+ 0.5V<V3<3.5V 2.0 mA

&'��

��FG�H

8IJKLM(�3)

JKNOPLM(�4)
VCE(sat) VE=0V,IC=200mA

VC=15V,IE=200mA

1.1

1.5

1.3

2.5

V

Q�KRST�� IC(OFF) VCC=40VUVCE=40V 2.0 100 �A

IJKRST�� IE(OFF) VCC=VC=40VUVE=0 -100 �A

&'��(13$)(%6)
23@VWXY��

Z[!13123��
VOCL 0.4 V

23\]��

Z[!13123��
VOCH 2.4 V

(�	

^S���� ICC 6.0 10 mA
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&')*��(+Ta=25,-./01�	2)
����cdefg

8IJKLM(�3)

JKNOPLM(�4)
tr 100

100

200

200

ns

ns

����hHefg

8IJKLM(�3)

JKNOPLM(�4)
tf 25

40

100

100

ns

ns
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R1

R2

Vref

Vo=Vref*(1+R1/R2)
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Vcc C2 C1 COMP
INPUT Vref

-

+

-

+

CTRTO.CE1 E2GNDD.T

1

23

4 567

8

9 10

1112

13

14

15

16

47Ω

0.
1µ

F

150Ω 1MΩ

5.1KΩ

5.1KΩ

5.1KΩ

150Ω 500µF
10V

0.1Ω

GND

50µF
10V

1mH,2A

Vo=5V
Io=1A

47Ω 1000pF

50µF
50V

Vi=0~40V
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